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� 810 � 850 � 900 � 980

• cn =
3 − n

2n2
n 0,1 ≤ cn ≤ 0,2

� n = 1 � n = 2 � n = 3 � n = 4

• 2x

x + 2
− 4

x
=

x − 4

x

� x = 2 � x = −2 x = 0 � x = 0 x = 4 � x =
2

3
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• 2x2 + x − 3 = 0

� x = −3

2
� x = 0 � x = 1 � x = 3

• 9x2 − 6x + a = 0 a

� a ∈ (−∞;−1] � a ∈ (−∞; 1] � a ∈ [−1; +∞) � a ∈ [1; +∞)

• x1 x2 x2 − 7x + 10 = 0 x2
1x2 + x1x

2
2 =

� −70 � −30 � 30 � 70

• (x; y)

∣∣∣∣
x − y = 2
xy = 3

� x2 + y2 = 4 � x2 + y2 = 9 � x2 + y2 = 10 � x2 + y2 = 13

• 4x + 1

x + 2
≤ 3

� x ∈ (−∞; 5) � x ∈ (−2; 5] � x ∈ (−2;−1

4
] � x ∈ (−2; +∞)

• y = −x2 + 10x − 9 x ∈ [0; 10]

� −9 � 0 � 5 � 16

• √
4x2 − 11 = 5

� (−∞;−4) � [−1; 1] � [2; 4) � [4; +∞)

• 3x+2 +
1

3x

= 6

� 0 � 1 � 2 � 4

• lg 2 + lg 4 + lg 5 + lg 25

� 3 � 4 � 10 � 36
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� xx ∈∈ (−−2;−1

yy == −xx22 + 10+

��

�� [[−−1; 1]1; 1]
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• {an} a3 = 6 a7 = 18
a4 + a5 + a6

� 24 � 30 � 36 � 72

• a3 =
1

4
a4 =

1

8

� 0 �
1

8
�

1

2
� 1

• �ABC AH H BC

AH = 12 BH = 9 CH = 5 �ABC

� 32 � 36 � 39 � 42

•
5 : 12 a

b c

� b < a < c � b = c < a � b < c < a � c < b < a

• ABCD AB = 4 BC = 2
CL L ∈ AB <BCD

D CL

� 2 � 2
√

2 � 4 �
2√
2

• �ABC AB = 6 BC = 10 <ABC = 60◦

AC

� 2
√

19 � 8 � 14 � 19
√

2

• 3 x − 2 = 0 (−π

2
;
π

2
)

� 0 � 1 � 2 �

• y = 2x − 3

� A(2;−3) � B(2; 3) � C(1; 1) � D(0;−3)
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L ∈ ABAB <B
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ABB = 6= 6 BCC =
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�

4,90

�

(4

3

)2x−1

≥ 1

x ∈ [
1

2
; +∞)

�
1

log3(x − 2)

(2; 3) ∪ (3; +∞)

� y(x) = x4 + 2x − 3 sin x

4x3 + 2 − 3 cos x

� x f(x) = 2x3 + 3x2 − 3 x ∈ (−∞; +∞)

0 −1

� 8
2

20

� �ABC <ACB = 30◦ <BAC = 45◦ AB2 : BC2

1 : 2

� 12√
136

384

� 64π

128π

�

3

7

2)

− 3 sin3 sin xx

ff((xx) = 2) = 2xx33 + 3+

2

<<ACB


